[ Efficiency vs vertpos |
~ 0.2

CTPT SO T —
o F 5 : :

>0-16T"""""E """""" ' """""" o
g014_'_ .......... s s et
gk ' i i

V. R oot A
O MRt e s

0.08f - o g
0.0 e eerieeeenens ey

Tl st
Tl I'“TKI"H"
RAAK]

1 #: pAA RN ARAE:

02

-2 -1
10 1 10
TP vertr (cm

[—— DQM_XiMinus_origmal

—e— DQM_XiMinus_newbranch

T —— DQM_XiMinus_original_pLess
Efficiend —— DOM_XiMinus_newbranch_pLess

10

0

N
+—
=

(T N N N |
%80 20 =10 0 10 20 30
TP vert z (cm)

| R

8 I
A ‘ \ m ‘1‘15.:"‘

[ Efficiency vs. sim PV z |
~0.05
>
00.045
S
#0-04
$.035
3
£0.03
Q
9.025
()
0.02
0.015
0.01

0.005

Eaenlis

;{, | Pog T
iﬁ%’t*‘i****'?““**fs*ﬁﬂ"'? """

............ SR X SO S

P EXETEEET TR
— N

&
i

1.0

Ratio

iy

o
©
al

2
NE
(=]

Sim. PV z (cm)



	Contents
	Page 1


